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2. ohe F ok 4, Bl Hste] A - BE Pl

A =2y% + x%> - 3xy, B = —4x? - 2xy + 5y?

@ 5x% - 2xy + 3y? @5x2 — xy - 3y?
® 5x% + xy + 3y? @ 5x% 4 2xy — 3y?

® 5x% + 3xy + 3y?

~&B

SH71E Ats £t

A—B = (2y% + x? = 3xy) — (—4x% — 2xy + 5y?)
= 5x% — xy — 3y?
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o As ArEle o, 52?

(4x* =533 +3x2 —dx+ 1)+ (2 —x+1)

@ 4x®2-3x+2 @4x2—x—2 @ 4x?-2x+1

@ —4x2—x-2 ® —4x2+x-2

STl Ax® —x -2, YA D —5x+3




5. (a-b+c)a-b-c)E HAMN5HH?

@ —-a?+b%-c?+2ca @ a®-b?+ %+ 2ab
® a®+b%+ 2 +abe @ a®-b?-c?+ 2bc
©a2+b2—c2—2ab

~&B

(a=b+c)la-b-c)
={(a-b)+ cH{(a=b)—c}
=(a-b)*-c?
:a2+b2—c2—2ab




HE IH Y AGHE, AIAQ EFCD= | R
ARl AD = a, AB = b A, A4

GBFH 9] §o]&? G—H
B—

® a2 - 2ab - b? @ a® + 3b* - 2ab

(@)—a2 + 3ab — 2b> @ -a? + 3ab - b>

® -a* + 2ab - b*

oGBFH = oABCD — oAGHE — oEFCD
=ab - (a-b)?-b? =ab - (a* - 2ab + b*) — b?
= —a® + 3ab — 2b>
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O (x+1)(x-x+1)=x3+1
@ (a+2b-3c)* = a®+ 4b% + 9¢2 + 4ab — 12bc — 6ac
® (x+2)(xP-2x+4)=x3+38
Q(XQ_xy+y)(x2+xy+y2) =x4—x2y2—|—y4

©® (x-

DPx+1)2=x*-2x2+1

@ (2 -xy+y*) (P +xy+y?)
= (2 +y*)? - (xy)?
— x% 4 a2)2 4yt
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n—|—17H0]E]'. oA ((2a-3b)3(2a+
7t 7

® 647

{(2a — 3b)
= {(4a?
= (4a*

" (4a?

3(2a + 3b)3)4

_ 9b2)3}4
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9. (P Hax+2)(?+bx+2)EANMAS W, 2B AFE RF0
o] A sh= 44 a, bell st a+ b 2] 327

oW

@ -2 @—1 ®1 @ 2 ®

B

(2% + ax + 2)(x? + bx + 2)

= x5 +bx* + (a+2)x® + (ab + 2)x* + (2a + 2b)x + 4
(x2 O] Alg)=(x* 9] AlF)=0°] B2
ab+2=0,a+2=0

Tt a=-2, b=1

La+b=-1




10. a®2+4+024+¢2=9,ab+bc+ca=9, a+b+c2 FL?

D -32 @ -2+3 @if’)‘/g
@ +3V2 ® V6

B

(a+b+c)? =a?+b*+c?+2(ab + bc + ca)
=9418 =27

a+b+c==+3V3




11. AR 3x* — 542
— +4x - 7L o|xA] o]
U2 7} 4x - 5L wf, o] x}A] ]:; ;f‘;‘t—r B

@ 3x2-2
@ 3x% -
x“—1 ® 3x2

®)3x?
+1 ® 3x*+2
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xof gt ohatA] x% +ax +bx+2 5
x+3°] HEE

> E:

> HE: ab= -6

a, b O #= AL W, ab TS T

¥ —x+ 12 the vejx7h
Fstelet.

~&B

ANAE A

3188 Aot
a=-2,b=3
ab = —6

Pt +hrt2=(F-x+1) A+ (x+3)

A= (x+p)
P ta +bx+2-(x+3)=(*-x+1)(x+p)
Brad+bh-Dx—-1=(EP-x+1)x-1) ~p=-




13. oAl (X)_4x +axrP+x+12x+- iq-—r—fq],]-u-lxlj}.lcﬂ
S (08 20+ 12 e & (09 Lol k% P

D@ Qox)=24>-x,R=1 @Q(x):2x2+x,R:1
® Q0kx)=2x>-2x,R=1 @Q(x):4x2—2x,R:%

® Q(x)=4x2+2x,R:%

mbA f(x) = 4x3 + 4x2 + x + 1
=x(4x® +4x+1) +1
=x(2x+1)2+1

+1EUFHQO(x) =222 +x, R=1




14. x+y+z=1xy+yz+zx =2, xyz=3< ™, (x+ Dy + 1D (z+1)
o] k& Fotofet

> E.

> ®™e: 7

(x+1Dy+1)(z+1)
=xyz+xy+yz+zax+x+y+z+1
=7




15.

a+b+c=0, a®>+b*>+c? =14 W, 4(a®b? +b?c? +c%a?) o] 727

1
@ @ 3 @1 @ 2 ® 3

o=

B ~

(a+b+c)?=a®+b?+c?+2(ab + be + ca)

1
", ab—i—bc—i—caz—i

4(a®b? + b%c? + c2a?)
= 4{(ab + bc + ca)? — 2abc(a + b + ¢)}

1 2
—“(‘5) =1




16. 99 x 101 x (1002 4 100 + 1) x (1002 = 100 4 1) AA5}HH?

@1006—1 @ 100° +1 ® 100° -1
@ 100 41 ®1

S5
100 = a 2 |3 517
(F4) =(@-1)(a+1)(a® +a+1)(a®-a+1)
=(a*-1) (a* +1)




3L W, 22 4 O YT a7 4 € g Az Fohn?
@7, 18 ® 8,16
@ 9,18 ® 10, 27




18. A ab,col ot a+b+c=6,a> +b>+ 2 = 125 =T o,
a® +b° + % o] & F5HH?

@ 8 @ 16 @24 @ 36 ® 42

B ~
TA a2+ b2+ = (a+b+c)?-2(ab+ be + ca)oll T
42 TRlste]

(ab + bc + ca) @ F-& Fo14A (ab + be + ca) = 12

a® + b + ¢ = 3abc = (a+ b+ c)(a® + b* + ¢*> — ab — bc — ca)
oA

a®+b*+c?—ab—-bc—ca=0°B=2

S @=b)2 + (b=0)? +(c=a)?) =0

L a=b=c=2°R% a3 +b>+c3 =24




19. a+b=4,a*+b* =102 0, @® +b° 9] k& F5ho]eh

> E

> Heh: 244

~&B

at+b=4,a>+b*>=10
ab = %{(a+b)2—(a2+b2)}:3
a®+b® = (a+b)® - 3ab(a +b) = 28
La®+ b = (a® + b%)(a® + b?) — a’b?*(a + b)
=28x10-9x4
=244




20. the 1A AAF A2 o

@ 642 - Tab + 2b?
@48a2 — 48ab + 12b?

® 48a? + 48ab + 12b?

3b

“-8(1"

@ 36a? - 42ab + 12b>

@ 1242 — 12ab + 3b?

(6a — 3b)(8a — 4b) = 484% — 48ab + 12b




